
MPM1DI/W – Operations with Rational Numbers (RN2) Name: __________________________ 
 

1. Simplify: 

a)  
1 8

2 5
  b) 

2 6

3 7

  
  

  
 c) 

1 2

4 3

   
  

  
 d) 

3 1

8 21

  
  
   

 

e) 
15 2

2 45

  
  
  

 f) 
5 36

12 5

  
  

  
 g) 

7 6

3 5

  
  

  
 h) 

8 9

3 4

 
 

 
 

 
2. Simplify: 

a) 
1 1

8 2
  b) 

7 4

10 9

   
    

   
 c) 

5 3

8 4

   
   

    
 

d) 
1 8

5 15

   
   

   
 e) 

8 4

2 3

    
   

   
 f) 

10 5

3 4

 
  

 
 

g) 
5 5

4 2

 
  
 

 h) 
2 5

3 7

 
  

 
 i) 

11 7

6 12

 
 

 
 

 
3. Simplify: 

a) 
3 2

4 3
  b) 

5 2

7 5
  c) 

3 5

8 6
  d) 

5 3

12 8

  
  
 

 

e) 
2 5

9 6



 f) 

4 2

5 3
   g) 

3 2

4 5

 
  

  
 h) 

3 5

8 4

   
    

   
 

  
4. Simplify: 

a) 
2 1

3 4

 
   

 
 b) 

5 3

6 2

 
  
 

 c) 
3 3

8 4

 
 

 
 d) 

5 1

8 6

  
  

 
 

e) 
2 3

3 10

 
  

 
 f) 

3 5

4 8

 
  
 

 g) 
9 7

4 3

 
  
 

 h) 
20 13

6 3

  
  
 

 

 
5. Simplify: 

a) 
4 3 7

5 8 4

   
    

  
 b) 

3 7 7

7 2 3

      
     
    

 c) 
6 3 16

7 4 7

      
     

    
 

d) 
18 27 6

5 5 11

      
     

    
 e) 

5 7 9

9 6 5

   
   

  
 f) 

4 3 4

9 8 3

         
       

      
 

 
Answers: 

1. a) 
4

5
 b) 

4

7
 c) 

1

6
  d) 

1

56
  e) 

1

3
 f) 3  g) 

14

5
 h) 6  

2. a) 
1

4
 b) 

63

40
 c) 

5

6
  d) 

3

8
 e) 3  f) 

8

3
  g) 

1

2
  h) 

14

15
  i) 

22

7
 

3. a) 
17

12
 b) 

11

35
 c) 

11

24
  d) 

19

24
  e) 

11

18
 f) 

22

15
  g) 

7

20
  h) 

13

8
 

4. a) 
11

12
  b) 

7

3
 c) 

9

8
  d) 

11

24
  e) 

11

30
 f) 

11

8
 g) 

1

12
  h) 1   

5. a) 
11

10
  b) 129

98
  c) 

18

7
  d) 

4

33
  e) 

31

10
  f) 

32

123
    

 


